\u3
T
K>
o

1 AR
1,300 H
2 ZKIHUM
X 53 5 B A
1 #~200 it £ T 5.0 [
201 f~500 % T 4.0 M
T/ 70 501 # LA I 3.5 M
REARHGELTE S T —
BEHEED 2% % YRR
1 Kz~1,000 #c £ T 20.0 M
1,001 #~3,000 ¥z % C 17.0 M
TN T — 3,001 #cLL E 14.5 M
REARHGELTE S T —
A EHEED 2% %R
1 ¥z~1,000 #£ £ T 17.0 M
1,001 f£~3,000 ¥ & T 14.5 M
TNH T =71V |3,001 #LLE 12.5 M
REARHpELTE S BT —
BEHEED 2% %R
3 X

(1) —HZLoXHWEFEIL, Lt 1 0ERRE & Bt 2 DA 2L o BAHIfHE i
EEFE U THEESEN O AR R X 2R 2 0 TR AitafA it L,
WP E WSS T 5,

(2) (1) THIYESHED 10% 0% GRBLEE 12 o TITHE R L O T THEBLO
HELQ) B LA (MRERIIUET 22X b0L94 5,



